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Q.1  Read the following passage answer the questions given at the end as briefly as
possible (1 to 2 lines each): (25)

.Heads of government attending the London economic summit will have no excuses if
they fail to curb the level of arms exporfs. A new definitive study by the International

Monetary H.Jnd,.not generally known for its liberal views, makes_it plain that high levels of
;Wﬂmﬁ have retarded(wﬂmgg_%rg_
gvelopment projects and the private sec;toﬁthe latter an issue with which the seven riches

market economies can identity.

The IMF, however, pick out 10 consistent offenders among developing countries

which spend more than 15 percent of their GDP on the military, they are: Israel, Angola,
Oman. Yemen, Jorden, Saudi Arabia, Irag, Syria, Eqypt and Libya. Employing some
unusually _f_clcefmanguage the Fund says: the levels of military expenditure certainly led to
low growth and domestic economic hardship in Some countries by diverting funds from social
brogrammes, economic development projects and the private social sector.

The study poses a couble of other serious problems for the summit. It shows for
ensitive to financial constraints. Thus, if countries

instance, that military expenditure is very s
are on armaments.

Questions:
1 What are the head of Government doing at the summit?

2 What are the findings of the new study?
3 How does military expenditure affect domestic economy of a count

ry and in what

ways? | |
4. What is the relationship between spending and economic growth?
ed to resources?

5 How is military expenditure relat



There should be at least two sentences in the A j .
answer. ' : '

l A, Wag ae e \r\qusyo(: Ga\ix

2 \Sa AN WM e SUumea i) O ;

“‘\Q‘S ' Max e _ O\)ﬂ@ngaa :\\\e ST TN W ; (el
Wea )  ofF QUG @xpox xf, ,L
. N\\a\ coge  Xne Q\w\& W< ot N \-

2
A -

-

T@ Qm\\gg : O(‘ e o) &\h\dﬁ a’\rg —Y\e}
Yhee oy Yecem.  Wign GoR00 S

. | SfSing i\ ;

QeV evading Caunitte N 3 RN Wax »4((“,3@\@ ;

Yhe e€CeXvemess of i
€ Comnstit <\eve vpne

Secde6y .

2. \-\ou) <_§oes

Lotla) ’PKG”{S(\W(&P‘
e e 4 L G R N T :

2&\5 Q)\?emd\\u'&e okCecr :

ALY easnsrv N ‘Qo\&mﬁ\}s andy |
® \!\ \ \,QQL 7 s H
s e » 5}5 * does not Sl »4
DMivesy  eviempute “1AnY alew

i
bt


M. Ali Raza

M. Ali Raza
There should be at least two sentences in the answer. 
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This sentence is grammatically incomplete.
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